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Questions

A connection provides a dedicated link between two devices.

Th FIFeNT & T3 & ST GATIT Toieh WeleT T g |

(A) primary

EIEEN

(B) multipoint

401 HAeAIISe

(C) point-to-point
. = o.

(D) secondary
Qs

Answer Key: (C)

Which topology requires a central controller or hub?

g Shelel 3TaT 89 o ToIU Tohe T (EdTelien) i 3Taedehar gl &

(A) Mesh
AT

(B) Bus
402 99

(C) Star
R

(D) Ring
T

Answer Key: (C)

Circuits board or card that is installed in a computer so that it can be connected to a network

S A S+ & [T HeEcge A G Afche SIS 3rgar &

(A)Modem
HISH

(B) NIC

403 TN

(C) Repeater
Redrex

(D) Router
*X

Answer Key: (B)
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Which of the following provides reliable communication ?

SoTH T PioT TITHAT AR J&ld HcT g ?

(A) TCP
Sy

(B)IP

3

(C) UDP
gardy

N

(D) All of these
AT T

Answer Key: (A)

Loss in signal power as light travels down the fiber is called?
PSS H YT & JHOT & HROT [AIeTol 7 8T Fgelidl g ?

(A) Attenuation
TeAeroT

el

(B) Propagation
JaR

(C) Scattering
gehoteT

(D) Interruption
cSgqYle]

Answer Key: (A)

Although they've fallen out of favor, which of the following devices is used to connect different network segments and manage the

traffic between them?

JEATT 379 TG Toled H o761 o, [AFA T H H et AT TF [ATHeoT sicach HIHE Hl SISt I IeTeh a1 ¢Ttheh Pl TaTad it 3

3T T ST AT ?

(A) Bridge
EEl

(B) Hub
5l

(C) Gateway
Aea

(D) Repeater

Answer Key: (A)
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Which of the following is not a disadvantage of wireless LAN?

5137 W hleT AT IO Tl .U T Y A4l §

(A) Slower data transmission
AT STeT HTROT

(B) higher error rate
Ffw e (O R

(C) interference of transmissions from different computers

Aot HFCg et S@RT HEROT A cFTARIOT (S Thad)

(D) All of these
SAH T T

Answer Key: (D)

The Internet Control Message Protocol (ICMP)
SeTeic Theldl HuST Hieiprdl (3TSHTad)

(A) allows gateways to send error a control messages to other gateways or hosts

3=y ed YT g 1 Aed eaRT AT e Hewr ATt 1 ety dar

(B) provides communication between the Internet Protocol Software on one machine and the Internet Protocol Software on another

Teh 0T & ST TR HIethicl R GEY & GeXeie HIFedIT Terhicl & HEY HUR Felel el

(C) reports error conditions to the original source, the source must relate errors to individual application programs and take action

to correct the problem

HT G 1 e R Ay RUIE T, Tedieh Uitehele &l 3 (TR) A Hcl 1 Feer HTaedeh § 3R FHET h FATl & fow siars

T

(D) All of these
STH T el

Answer Key: (D)

End-to-end connectivity is provided from host-to-host in:
BIEC-Z B CINT US-E-US ot farefIe) YeTet & STl &

(A) Network layer
#eaeh ol

(B) Session layer
TR R

(C) Data link layer
31eT foidh oY

(D) Transport layer

TEYIE T

Answer Key: (D)

The domain, which is used to map an address to a name is called
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Teh U3 T AT e & FIT U197 T STt arelT ST shgeaiT §

(A) Generic Domains

SRS ST

(B) Inverse Domain

410 gead I

(C) Small Domains
AT ST

(D) Sub-Domains
a3

Answer Key: (B)

Which of the following registers is used to keep track of address of the memory location where the next instruction is located?

AT # & leT AT ISR, 3HITell oHerRI I [EUTT & HANT SlIeheleT o USH &l WisTol 7 3TAT Gl g ?

(A) Memory Address Register
AR wE TSR

(B) Memory Data Register
411 AARY sTer Ao

(C) Instruction Register
SRR ISR

(D) Program Register
ST ToreeT

Answer Key: (D)

What is meant by a dedicated computer?
Tk AT FregeT FT AT S § 2

(A) which is used by one person only
ST hael Ueh cgTard gaRT & 39T ar

(B) which is assigned to one and only one task

412 A Fad T & U 3Rt T & S ARag

(C) which does one kind of software

S T & YRR S HFCIAT &Y

(D) which is meant for application software only

Sl el UiCerehelet Hieday & fow €rar

Answer Key: (B)

Which ofthe following can be called as universal gate?

fArAfaf@d & @ @let a1 gfaaware e FEardm S Hhar g ?
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(A)NOT
TA3ITEr

(B)NOR
TR

(C) AND
TUAST

(D) XOR
TFINIR

Answer Key: (B)

The decimal number equivalent to 1100011 will be
1100011 ST Z21Feld TEIT Jod FATE ?

(A)98

(B) 100

(C)96

D) 99

Answer Key: (D)

Which among following can be considered as most advanced ROM ?

RTRT H Y i a1 5o [T ad 37, 3. TH. AT ST TehaT & ?

(A) DRAM
BRUTH

(B) EEPROM

SSA3mTH

(C)RAM
HRUTH

(D) PROM
dRRBNTH

Answer Key: (B)

User programs interact with I/O devices through ?

3T/31 I 3 H G T

(A) Operating System
e e
(B) Hardware

JEERES

(C) Buses
Ll
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(D) Processor

TR

Answer Key: (A)

A number system that uses only two digits, 0 and 1 is known as ?
0 31T 1, Facl &Y 37k T STAT T dTell GEIAT TOTN ST ST & 2

(A) Octal number system

3NeFeeT GEAT YUTlr

(B) Hexadecimal system

goraTs f&ael JuTrelr

(C) Binary system

EIEGBEHICH

(D) Decimal system

SR JUTell

Answer Key: (C)

Assembly language

TgFsoll 49T

(A) uses alphabetic codes in place of binary numbers used in machine language

RN T & STSATR TEAT & TATeT TR 37eh IS I 3TN AT &

(B) is the easiest language to write programs

o forgsr I gad I 9T

(C) need not be translated into machine language

Y AT HIST 3 ITATE T Y HTFLIFAT G AT |

(D) None of these
1A A HIg T

Answer Key: (A)

Programming language 'COMAL' stand for

ATTHT FTST A3NTHTTA 7 37T &

(A) common algorithmic learning
FIAT HeRNRATAF dfeter

(B) common arithmetic language
FiHT IR ogaasT

(C) common arithmetic learning

FIFT IRARRS ofear

(D) common algorithmic language

HiAA IePNRATAS SigaaaT
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Answer Key: (D)

In programming language BASIC, area is calculated as

TR ST STTHITSE H, &1l Y 0T T HI AT
(A) 100 Area=Width*Length

(B) 100 Area: = Width*Length

(C) Area: = Width*Length

(D) Area 100: length*width

Answer Key: (A)

The memory address of the first element of an array is called

U array & FUH TToIHAT T AARY T3H FEelldl &

(A) floor address

TR TH

(B) foundation address

FI3SRA U3

(C) first address
HE UIH

(D) base address

THTRH

Answer Key: (D)

Binary search algorithm can not be applied to

(A) sorted linked list
dres ol foree

(B) sorted binary trees

RS TR

(C) sorted linear array

&Res fafar w@

(D) pointer array
MEX W

Answer Key: (A)

A data structure where elements can be added or removed at either end but not in the middle

Teh 31T T ToTee Tfoleied 37cT 1 oY SilS AT §eTT I Tehe! & TR AL H a7g!
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(A) Linked lists
Tolors foreem

(B) Stacks
"

(C) Queues
g

N

(D) Deque
[Ec2

o

Answer Key: (D)

A variable P is called pointer if

T aRTT dY, GIgeR FEadT & Tfe

(A) P contains the address of an element in DATA

P, DATA & TToiHcq & USH HI I@ATE |

(B) P points to the address of first element in DATA
P, DATA & &< UfaldHe & TG R SAId T g |

(C) P can store only memory addresses

P ol AANT TIAST I TULT I ThATE |

(D) P contain the DATA and the address of DATA
P, DATA 31X DATA & T3H R I@ATE |

Answer Key: (A)

The correct order of the efficiency of the following sorting algorithms according to their overall running time comparison is

FATATA TITET TeaRLH & TTd ohT FEN v SoTehl G IeiaT TISH cJoielT oh T AR G :

(A) Insertion>selection>bubble

(B) Insertion>bubble>selection

(C) Selection>bubble>insertion

(D) bubble>selection>insertion

Answer Key: (D)

What is the postfix representation of this expression?
(12-a)*(b+9)/d*4)

SH TFEIT T Qe therd Rosier Farg 2
(12-a)*(b+9)/d*4)

(A) 4b*d9=al2-*/
(B) /12a-b9-+d4*
(C) 12-a*b+9/d*4

(D) 12a-b9-+*d4*/
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Answer Key: (D)

The running time of insertion sort is
T P ZHC A HT AT CSH G :
(A) O("2)

(B) Om)

(C) O(log n)

(D) O(n log n)

Answer Key: (A)

A binary search tree whose left and right subtree differ in height by almost 1 unit is called
T IR T & Faeh 910 T g aE) F -0 1 SHIS I 3] &, FgelldT &

(A) AVL tree
e

(B) Red-Black tree
TEam o

(C) Lemma tree

FTEN

(D) None of these
STH QIS AT

Answer Key: (A)

Which of the following algorithm design technique is used in the quick sort algorithm?
Faes AIC TRl H e fof@d 3 & Fief T TealeA s deeiie &l 3uA1T a1dT &

(A) Dynamic programming

EEGIECRCIDIEEN

(B) Backtracking

depefamar

(C) Divide-and-conquer

(D) Greedy method
PISENE

Answer Key: (C)

Which of the following statements about linked list data structure is/are TRUE?

Toiehs folee STeT TgaR & Ty & [eTTaf@d & O Fia O feouohy/ fecaiorat T8t & 2
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(A) Addition and deletion of an item to/ from the linked list require modification of the existing pointers

ol foree 7/ & 3mgea 1 Siiset AT Terst & forw Hisfer dige 7 HaIUe Hr FTaeIHATEIAT ¢ |

(B) The linked list pointers do not provide an efficient way to search an item in the linked list

Toiers fore NS foishs foree & 31Tsca &l @istel H ig THTET T YelT J8T IATg |

(C) Linked list pointers always maintain the list in ascending order

foiens foree ISR gaten srect st & Toree a1 3R et T g |

(D) The linked list data structure provides an efficient way to find kth element in the list

Tolehs folee STeT TR Toie 3 & 31TSCH ol WisTel ol THTAT dRIehT Teiel T § |

Answer Key: (B)

Database , which is the logical design of the database, and the database

the database at a given instant in time.

(A) Instance, Schema

oo, ThHHAT

(B) Relation, Schema
RorrT, &har

(C) Relation, Domain

e, 3T

(D) Schema, Instance

T, Sedced

Answer Key: (D)

Which one of the following is a set of one or more attributes taken collectively to uniquely identify a record?

T TS 1 Zfesholl 3MSSREHIE A & fow Ae=ifaf@a 7 @ wlet &1 var a1 veh & 3110 vieegew 1 e fom smar g 2

(A) Candidate key
FHEST Hr

(B) Sub key
a &

(C) Super key
R

(D) Foreign key
B T

Answer Key: (C)

Which of the following is not a Armstrong’s Axiom ?
ReTfafEd F 9 Fia ar smeieeer viFasna 78 2

(A) Reflexivity rule
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Rererafifaer e

(B) Transitivity rule

433 aaeRa e

(C) Pseudo-transitivity rule

(D) Augmentation rule

IeRTRe AIH

Answer Key: (C)

Fifth Normal form is concerned with
qieraT AT el BRA Hafetrd §

(A) Functional dependency
GereleTel f3usel

(B) Multivalued dependency
434 Acdideyg f3usdr

(C) Join dependency
Sreat el

(D) Domain-key
SIAA- Fr

Answer Key: (C)

If the state of the database no longer reflects a real state of the world that the database is supposed to capture, then such a state is
called

e Terey T U ae3 A areafas e R@meT sig a1 & fA T80T (capture) ST T TR 3T A T ST &, T Feufa r
g

(A) Consistent state

HITAEE T

435 (B) Parallel state
Rl ®e

(C) Durable state
FEA R

(D) Inconsistent state

e e

Answer Key: (D)

The strategy can retrieve a single record if the equality condition is on a key; multiple records may be retrieved if the indexing
field is not a key is

TREFS (key) TR FHIACT T 3FAEUT H Tehel RIS T EEST SR ST TehaT ST HehelT ¥, Sger Repis bl 1ot fohalT ST Hohel & Ffe0
ST Bles Tl (key) 7 &
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(A) A2
436
(B) A4
(C) AS
(D) A6

Answer Key: (B)

When two inputs that we desire to pipeline into the join are not already sorted itisthe __technique.

T &) oTYe Foiee &3 IS HeNse H ShSaT e &, Jeel & AS =16l 8, Tg REDIENS
(A) Hash join

gersiigeT

(B) Buffer join

437 T ST

(C) double-pipelined hash join
STA-USTES 82T

(D) double-pipelined join
STA-UBIASS SAlSeT

Answer Key: (D)

Which view that contains more than one table in the top-level FROM clause of the SELECT statement:
SELECT ®THE & T3 FROM & CII-oidel 3 hlet A1 < 7 U { 31tk cqel gl 8 :

(A) Join view

Sige .

(B) Datable join view
438 SIETTEe SAget e

(C) Updatable join view
HISTUSA

(D) All of the mentioned
ECCItCR RSN

Answer Key: (C)

Which of'the following protocols ensures conflict serializability and safety from deadlocks?
ARTNTITATAE 3N SSelieh & GR&T o o SiftForenc F leT AT HIeThl ol FioA e HATE ?

(A) Two-phase locking protocol

Tt AlNfhaT Hieenler

(B) Time-stamp ordering protocol
439 TEH-EET 3SR Al

(C) Graph based protocol

ITH IES AeTPicT
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(D) Both (a) and (b) above
TR (2) T (b) QAT

Answer Key: (B)

A unit of storage that can store one or more records in a hash file organization is denoted as

T I TSR 7 veh AT U & 3T Repis t Hargor et 1 1S GRS S & -

(A) Buckets
FeheH

(B) Disk pages
440 S&h 9sd

(C) Blocks
sollere

(D) Nodes
GIES )

Answer Key: (A)

An ammeter of 0-25 A range has a guaranteed accuracy of 1% of full scale reading. The current measured is 5 A. The limiting error
is

0-25 A o o Ueh TTAEY A IRYGAT el Tohel QST HT 1% & | ORTATAT S AT | AT e E
(A)0.02
441
(B) 0.025
(€)0.04
(D)0.05

Answer Key: (D)

Which of the following voltmeters would you use for measuring voltage across 20 kQ resistance?

319 20 kQ T FTARILIRdT dTel dledol sl AT & folw e faf@a & ¥ fora dieediet &1 3uaier ey

(A) Voltmeter having a resistance of 5 kQ

5kQ FI FFARSHAT aTel AecHIeT

(B) Voltmeter having a sensitivity of 1 kW/V
442 1kW/V T HaeeT2leldT dTell dlocHiel

(C) Voltmeter having sensitivity of 10 kW/V
10k W/V I HAGsTMeldT aTell alecHIeT

(D) None of these
GoTH A IS AET

Answer Key: (C)
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Two resistors R1 =36 Q + 5% and R2 =75 Q + 5% are connected in series. The total resistance is
R1=36 Q5% ARR2 =75 Q= 5% dTel & TRIessh Ao Aok 8 | Fel FfAqeshelle :
(A)111+£555Q

B)111+£0Q

(C)111£2.778 Q

(D)111£723Q

Answer Key: (A)

The relative error is the:
e ARy

(A) Difference of the measured value and the true value

AT &7 31 I #: & S &1 3aT

(B) Ratio of the absolute error to the true value of the quantity under measurement

A & 3icTTel HAT & arecash e 3R T AT T 37Tt

(C) Ratio of absolute error to the measured value of the quantity under measurement

AT o AT A & AR e AR AT #HieT 1 3fegareT

(D) Ratio of the probable error to the true value of the quantity under measurement

AT o AT AT o BT JfE R FeAT AT T 3 TeT

Answer Key: (B)

An electrodynamic meter can be used to measure

T SolFeRisSa fAeh fHeX A & 39T fFaT Sar g

(A) AC voltage
T alecs

(B) DC voltage
Fraraleest

(C) Both AC & DC voltage
T T S A dlece alt

(D) DC current
Fdrae

Answer Key: (C)

A thermo-couple instrument can be used for the measurement of:
Teh 2RAFIA 3THIOT A H 3T I Srarg

(A) Direct current only

RYgc e Had

(B) Alternating current only
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446 HIRATET e Faer

(C) Both direct current and alternating current

(D) DC/AC voltage only
Y T e had

Answer Key: (C)

Tangent Galvanometers are also known as
ESte AeartHIeT STT ST §

(A) Moving Coil Instrument
HFAT ISl 3THT

(B) Moving Magnet Instrument

447 AT ATTAE 3THIOT

(C) Moving Conductor Instrument
HFAT hseFeT 3T

(D) None of these

ST A IS AET

Answer Key: (B)

Which of'the following are needed both for protection and metering

GRef 3R HeRer gt & fav fFetfafed & & o i maegehdr g &

(A) Wattmeter
qreAY

(B) Instrument Transformers

448 SrEEHE TrEPIIR

(C) Energy Meters
TS A

(D) Power Factor Meters

9Tav tharel Al

Answer Key: (B)

In two wattmeter method of 3 phase power measurement, when does one wattmeter read negative

3 thof JTaR A9 H &) arediies AT 7, v aresiiet S RulcHs a2fiar g

(A) when power factor is less than 0.5 lagging
SIS qTaY hereX 0.5 AT A HA gl

(B) when power factor is greater than 0.5 lagging

449 SIS 9Ta} thereX 0.5 WAfeieT T8 gr

(C) when power factor is less than 0.5
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ST 9TaT e 0.5 A HA 8l

(D) when power factor is unity

SIS UTaRX theFeX SIS 8T
Answer Key: (C)

A moving coil instrument has a resistance of 0.6 Q and full scale deflection at 0.1 To convert it into an ammeter of 0-15 A range,
the resistance of shunt should be

T FIT gl STHLOT T FTARETHAT 0.6 Q 3R 0T Eher A& 0.1 § 10-15 A I3 % U et # aRafcia wtet & fow saeh e
gfoRIERdT 8T AR T

(A)0.6Q
(B)0.06 Q
(©)0.1Q
(D) 0.004 Q

Answer Key: (D)

In case of delta-star connection of three phase transformer, secondary line voltage with respect of primary line voltage is at

AN-heT TTEPIFR F Socl TR Fel 1T & HHA H, USHY 1SeT dlocsl & TaH H Uhesl oS dlecal ¢

(A) 0 degree
0 f3afr

(B) 30 degree leading
30 T3t 3mar

(C) 30 degree lagging
30 S i

(D) 60 degree lagging
60 fSair die

Answer Key: (B)

Which among the following is also regarded as 'Dual of Thevenin's Theorem'?

AT & & oY 337l 3Tt AdelleT LARA S T ST

(A) Norton's Theorem

AtcsT ZIRH

(B) Superposition Theorem
GRS LIRHA

(C) Millman's Theorem
TR SR

(D) Maximum Power Transfer Theorem

HTFTHHA IR Teaqm ZARA

Answer Key: (A)
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In inductive circuit, when Inductance (L) or inductive reactance (XL) increases, the circuit current ?

gsiFeg IRYY F, 519 55F¢H (L) 3720dT S5{Fea Rusead (XL) F TR AT 8, Al TRIY e 2

(A) Also Increases

Aragah

(B) Decreases
453 eI

(C) Remain Same

THT 3T
(D) None of these
ST A Ig T

Answer Key: (B)

If Current and Voltage are 90 Degree Out of Phase, Then The Power (P) will be

uﬁmmm90%ﬁm3ﬁ$ﬂﬁ§fﬁ3m@ow&) g1 |

(A) Infinite
3eidl

(B) Maximum

454 K IBCoers

(C) Minimum
e

(D) Zero
AT

N

Answer Key: (D)

In a Transformer , The primary flux is always ___the secondary ( flux).

TEERIFR H, TSHL Folerd gHRIT Hhsd! Folard o gare |

(A) Greater than
 AH

(B) Smaller than
455 A

(C) Equal
ERIERS

(D) Equal in both step up and step down
VY 37 3R R Al H SR

Answer Key: (D)

The friction losses in Real Transformers are ?
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RIeT =1 & YT 8T (friction loss)

(A) 0%
(B) 5%
(C)25%
(D) 50%

Answer Key: (A)

If the number of turns, area and current of an ac circuit is doubled then the new inductance will be

T e . . fehe 3 oo, 8ol 3R e 1 & AT T SITe, oY =78 wfcraer g#hsa)

(A) Equal to the former
el & sy

(B) Twice of the former

[EECEIDCH

(C) Four times the former

e & TrReoT

(D) Half of the former
e @ 3men

Answer Key: (C)

In ac circuit p the maximum current required is

Teh T. AT, Afehe & 31 hds 9RT ST 392 haT ;

(A) Equal to the effective(rms) current
THTET (rms) TRT & sRIEX

(B) 1.414 times the effective(rms) current
FHIET (rms) URTH 1.414 T[T

(C) Twice the effective(rms) current

SHTET (rms) EIRT & S1[AT

(D) 1.732 times the effective(rms) current
FeTT (rms) TRTH 1.732 &l

Answer Key: (B)

Which of the following is minimum error code?
ANl A q T AT gTaA TR BT ?

(A) Octal code
e g

(B) Grey code
DEC
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(C) Binary code

SAR IS

(D) Excess 3 code
T 3 H15

Answer Key: (B)

SR Flip flop can be converted to T-type flip-flop if ?
TEIR [FeT FellT Y -2 [Fery- Foirq & uRafda forar s aerar & afe

(A) S is connected to Q
T @l FG I Siga

(B) R is connected to Q
HR T Y A S5

(C) Both S and R are shortened
T 3N IR Al Y o X

(D) S and R are connected to Q and Q' respectively

TH 3R 3R A 7 AR g A5

Answer Key: (D)

Registeris a
e

(A) Set of capacitor used to register input instructions in a digital computer

f3fSTee hecgex A saTqe el ot IFSTEet itel H 3TN T STt arel HATHe 1 e

(B) Set of paper tapes and cards put in a file

FISA H W 99X ¢°F 3R HI5H HI 6T

(C) Temporary storage unit within the CPU having dedicated or general purpose use

A F & FT TAfTd Ay e e sHs

(D) Part of the auxiliary memory

fFaeely A & amer

Answer Key: (C)

Which of the following expressions is in the sum-of-products (SOP) form?
Rrfaf@a 7@ Sl a1 ge-3iTh-Nsaed (SOP) &t fAdw=T & 2

(A)AB +CD

(B) AB(CD)

(C)(A+B)(C +D)

(D) (A)B(CD)

Answer Key: (A)
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Digital circuits mostly use

e afée siftraa suaerga g

(A) Diodes
ElRIEs)

(B) Bipolar transistors

CIER IR p)

(C) Diode and Bipolar transistors

33 3R SIS UeR Eforeey

(D) Bipolar transistors and FETs
ISR STt AR THES

Answer Key: (C)

The decimal number 127 may be represented by
TR 3 127 U 97 G ST AT &
(A)11111110

(B) 1000 0000B

(C)EEH

(D)o111 1111

Answer Key: (D)

A halfadder has

g UST HgIaT g

(A) 2 inputs and 2 outputs
2 39e 3R 2 3M3eqe

(B) 2 inputs and 3 outputs
2 e1Ye 3R 3 3M3eqe

(C) 3 inputs and 3 outputs
3 319 3R 2 3M3eqe

(D) None of these

FAA A G E

Answer Key: (A)

In which of the following base systems is 123 not a valid number?

AT o8 WOTel 7 123 Ueh 38 HEAT 61 &
(A)Base 10

(B)Base 16
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(C)Base 8

(D) Base 3

Answer Key: (D)

The binary code of (21.125)10 is

(21.125)10 FIABAR FS &
(A)10101.001

467 (B)10100.001
(C)10101.01
(D) 10100.111

Answer Key: (A)

A NAND gate is called a universal logic element because
TA.U.TA.3Y N GfATHS AT Fgellell & FAiTeh

(A) it is used by everybody
I T3 & EgRT 3T fRAT SIAT Y

(B) any logic function can be realized by NAND gates alone
468 IS 3 it Behelel Sl TAUTEIST 31T GaRT ITT ST TohelT &

(C) all the minimization techniques are applicable for optimum NAND gate realization

TP TAUTAS AT YT TENRIT 3 T FRTAATESNIT cTehotieh R gl &

(D) many digital computers use NAND gates
g AR f3fSiee ey ex TAUTAs I T STAT R E |

Answer Key: (B)

The number of Boolean functions that can be generated by n variables is equal to

Tt ARTer ¥ AT g1 ool ATl FfIeT theh2led ST I & -
(A)2n
469 (B)22n
(C)2n-1
(D)-2n

Answer Key: (B)

Excess-3 code is known as
TFHH 3-8 AT STATE -

(A) Weighted code
CICEEIES

http://localhost/bsnl_eadmin_live/testset.php?subcode=301&seccode=2 21/31



9/22/2016

470

471

472

473

localhost/bsnl_eadmin_live/testset.php?subcode=301&seccode=2

(B) Cyclic redundancy code
s fFeleh IS4 IS

(C) Self-complementing code

(D) Algebraic code
elotadieh 15

Answer Key: (C)

Why do the D-flipflops receives its designation or nomenclature as 'Data Flipflops' ?

3 TIT FellT ol SHRT ATH 'STeT TFeolT FeAlT' T WTC & 2

(A) Due to its capability to receive data from fliflop
TSI Tl & STT UTCc &t hl AT AT oh HROT

(B) Due to its capability to store data in flipflop

TFAIT FellT A STeT TR et T A1TAT o HRUT

(C) Due to its capability to transfer the data into flipflop

TFIT FellT A STeT TATATT R et T T & HROT

(D) All of these
AT T

Answer Key: (C)

What kind of programming language is Java?
ST e Tehre Y SanfHaT e &

(A) Object-oriented programming language

aEG- JTHAW TN T

(B) Relational programming language

JolRIETe AT et

(C) Sixth-generation programming language

SO IIEY SranfHaT FHST

(D) Database management programming language

EMERRERERIDHECIE ]

Answer Key: (A)

ISP stands for,

ITSTHN A FAT AT &

(A) Instruction Set Processor

SOl HE MATW

(B) Information Standard Processing

SR T3S Tt
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(C) Interchange Standard Protocol

- oS o
(D) Interrupt Service Procedure
gexee afaa MdeR

Answer Key: (A)

is used to store data in registers.

ST # 3eT TR et & foIT - &7 N7 fmar ST &

(A) D flip flop
D Trercwrella

(B) JK flip flop
474 JK Toercwrelgq

(C) RS flip flop
RS foFerctrelia

(D) None of these

FAA A IS E

Answer Key: (A)

Which memory device is generally made of semi-conductors ?

313 A it AT AR Bz 3R ) delhsee A TATEATY
(A)RAM
(B) Hard-disk

ps | TR

(C) Floppy disk
Fardy f3eh

(D) Cd disk
LIEREr =0

Answer Key: (A)

How many 128 x 8 RAM chips are needed to provide a memory capacity of 2048 bytes?

2048 STSTH T AANY &THIT TeTeT I 3 folw fohtey 128x8 Yo g i 3maegehargidi &
(A8
476 B) 16
(C)24
(D) 32

Answer Key: (B)
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A CPU contains
Ay AT

(A) a card reader and a printing device

T s =T 31 BT Igamtor

(B) an analytical engine and a control unit

TeATfafeeRel Sofel 3R heter I

(C) a control unit and an arithmetic logic unit

(D) an arithmetic logic unit and a card reader

e i i 3R s

Answer Key: (C)

An octal number 237 is equal to the binary number
MeFeer AaT 237 fhd AN Fe & WL BT
(A)010011 111

B)010 111011

(©)o11101 101

(D)011 000001

Answer Key: (C)

Which one of'the following is not a programming language of a computer?
GoTH @ ahlef A HFCG T T AT HIT e &

(A) BASIC
Cinca

(B) FORTRAN

BRERT

(C) LASER
oo

(D) PASCAL
IrEeRel

Answer Key: (C)

EPROM stands for:
SARTHBNTH A FAT AT §

(A) Erasable Programmable read-only memory

oI ol DA A3 3Teoll HANT

(B) Electrically Programmable read write memory
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480 gollFeenfol TREITAT o 318 IST HARY

(C) Electrically Programmable read-only memory

Solfargeh el SaTAeel {18 3Teoll AARY

(D) None of these
STH QI T

Answer Key: (A)

CPU can read & write data by using :
Y forerhT e 4 31T & {18 31T Use Y AT &

(A) Control bus
FAd aH

(B) Data bus
481 sEerdyd

(C) Address bus

ucsansy

(D) None of these

FAA A PG E

Answer Key: (B)

Transponder comprises of
TEdist H a7 AT AT g
(A) transmitter

grfAeY

(B) receiver

482 T

(C) antenna

T

(Dyall
Tt

Answer Key: (D)

The inner portion of the fiber cable is called

TISER Sael & e F T8 Y T g1 AT §

(A) Cladding
FolSiaT

(B) Coating
483 Fifar

(C) Inner conductor
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o hsFeX

(D) Core
HR

Answer Key: (D)

The bandwidth of optical fiber

(A)900M Hz

484 (B) 900 PHz
(C) 900 THz
(D) 900 Ehz

Answer Key: (C)

The frequency band used by most satellite is
TR 3UIET GaRT 3TN I FTe el BheFdeall 88 - &

(A) UHF
JUIUTH

o

(B) VHF
485 CleLy

(C) SHF
THUITH

(D) EHF

SUTITH

Answer Key: (C)

The term RADAR stands for

RADAR T RITdcIT &

(A) Radio direction and reflection

AT sl Us Mo

(B) Radio detection and ranging

486 3T ST us IfSieT

(C) Radio waves dispatching and receiving

3T dew fseafeior Us Refder

(D) Random detection and re-radiation

A e ts AR

Answer Key: (B)
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The basic GSM is based on traffic channels.

I SNTTTH - e AeTel IR TR AT e

(A) connection oriented

FterereT Y

(B) connection less

FAFUT T

(C) packet switching
Yepe T

(D) circuit switching

Hféhe wdifaT

Answer Key: (A)

The breakdown mechanism in a lightly doped p-n junction under reverse biased condition is called

RIT T15Es AT & 37T goh A 31°8 N-U SR & ok 3137 o ohl &FT gl ST &

(A) avalanche breakdown
Il e 3137

(B) zener breakdown

SR 8 3137

(C) breakdown by tunnelling
S 31347 I8 TeAToldT

(D) high voltage breakdown
818 dlocol S 313

Answer Key: (A)

The main advantage of a crystal oscillator is that its output is
foreeer 3N 1 T 13T $IIeT 75 § 3 38T I3eqe BT &

(A) 50Hz to 60Hz

(B) variable frequency
TR fheraealr

(C) a constant frequency

T8 Oherd=ar

(D) de
3

Answer Key: (C)

A zener diode
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(A) Has a high forward voltage rating
3T HiRTS dlecat eI g g

490 (B) Has a sharp breakdown at low reverse voltage

FA AT aeeT WA s 33T 2T

(C) Is useful as an amplifier

TFCAHIST & T H 3TN

(D) Has a negative resistance

Adfea e glare

Answer Key: (B)

A power system whose input and output are DC is called

Teh 0T a1 A fSraen seiqe 3T 3m3eqe S 81T & &l - FgT ST e

(A) Rectifier

FCaTas

(B) Chopper

491 BIEES

(C) Inverter

A

(D) Transformer

TETHIFR

Answer Key: (B)

The frequency of voltage generated by an alternator having 8 poles and rotating at 750 rpm is

Teh 3TeleTeTed [oTeh 8 Ulel § 3T ST 750 3TRAITH IT TREFHUT T T@T 8, 3Heh GIRT 3cTee dlecol ol herdedl fehceil gIatT
(A)25Hz
492 (B) 50Hz
(C) 100Hz
(D) 200Hz

Answer Key: (B)

In an intrinsic semiconductor, the Fermi-level is

R A Fswrel A Bl g —- BIATE

(A) closer to the valence band

Jerg I3 & fashe

(B) midway between conduction and valence band
403 HEhe AR eI H T H

(C) closer to the conduction band

HZHUT 85 & foldhe
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(D) within the valence band

JH d5 o 3eT

Answer Key: (C)

The control unit controls other units by generating .
HAT AT - IcToeT T o FfATH Y AT AT

(A) Control signals
helel FlaeTer

(B) Timing signals

esfHeT [{aeter

(C) Transfer signals
T F8aeTer

(D) Command Signals
FHATS FAaeTer

Answer Key: (B)

Which bus is bidirectional?

FleT W T TS SR BIAT &

(A) Address bus

THTH

(B) Control bus
el 58

(C) Data bus
EEET]

(D) None of these
ST A Ig T

Answer Key: (C)

The word UHF means

UHF ST T d1ead &

(A) Ultra -High -Form
376CT 818 BRA

(B) Ultra -Half-Form
37eCT 8T BIRE

(C) Ultra- High-Frequency
37ocT 818 Theraear

(D) Ultra-Half-Frequency
37eCT 8T hera=ar
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Answer Key: (C)

In data communication using computers ,

FFICT HETIAT W g ATl STeT HAR H - FAaaver AN ) eiies 7 aRafda g &

(A) Analog
FHetairar

(B) Digital
B EC

(C)Botha &b
TR dreEt

(D) None of these
SAA ARG &

Answer Key: (A)

In the case of telephone lines, the usable bandwidth falls in the range of

AN SSAT H 3TN Sl AT SIS - T LA H@lAT &
(A) 300Hz to 3000Hz

(B) 300Hz to 3300Hz

(C) 30Hz to 3300Hz

(D) 33Hz to 3300Hz

Answer Key: (B)

Pulse Code Modulation(PCM) requires bandwidth of -
T 1S HGORRT (T 7 - dSfasy T Jraeghdrgldl &
(A) 32Kbps

(B) 64Kbps

(C) 128Kbps

(D) 256Kbps

Answer Key: (B)

In a Hierarchical model records are organized as

R T AREE R I ET TS BT E
(A) Graph

(B) List

(C) Links
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(D) Tree

Answer Key: (D)
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